Foundation Algebra Questions

Solve Solve the

simultaneous equations
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= =12 2¢=T72 +y=-4
x=2 6 3x-4y=6
. =19
r=8 7 =105 x+3y=12
x-8=5 X*+5x-24=0 S5x-y=4
2f+7=18 ) )
5y=45 X"=x-12=0 Sx4y =21
x+x+x=15I 6w +2=20 x—3y=9
trete=12 3r-8=19
Ix-4=11
neT=108 4x-5)=18 O + 2y = §
x-3=0
x-2=6 -9=12 2.]7!):—-18
- = x—y—.a
8+w=6 3(m—4)=21
4x -3=14 Sx—=6=3(x—-1)
| 4(3x-2)=2x -5
5225 S5-x
5 =27
l=
7 =3

Solve the inequality

14n > 1ln+ 6

5(x + 3) < 60
5 iy
2

Ix+6>1+2

x+S5>2x+17



Simplify
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Expand and simplify Factorise
5(x + 3)—x + 2
S(p+3)-2(1-2p)
n—(n+1) 3n+12 x>+ 6x+9
7x — (3x — 2x) 5—10m x> +4x+3
(x+5)(x—1) ,
9 ~ 3b° @ 100
(5x+ 2)(2x - 3)
2a’b + 6ab’
(2x+ D(3x—2)
242 — 20
(x - 8)? Y 4



